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Ju = 3940000 cm, ©(Ty) =994.9 N/cm2 ol =-488.1 N/cm y =28.65¢cm
Jv = 2460000 cm (¢ = 1540 N/cm OMISES = 2311 N/cm ry =22.64 cm
o(N) =906.3 N/cm T =994.9 N/cm OGUEST= 2516 N/cm o =36.51 cm
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Jv = 2539166 cm c =1614 N/cm omises = 2143 N/em ry =21.89cm
o(N) =996.2 N/cm T =814.2 N/cm oGuUEST= 2293 N/cm o =35.24 cm
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Ju = 4148333 cm, ©(Ty) =905.6 N/cm2 ol =-441.2 N/crg y =26.74cm
Jv = 2568334 cm c = 1418 N/cm omises = 2114 N/cm ry =21.04 cm
o(N) =815.5N/cm T =905.6 N/cm OGUEST= 2300 N/cm o =34.03 cm
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Ju = 3332500 cm, ©(Ty) =995.6 N/cm2 ol =-467.2 N/crg y =29.23cm
Jv = 1507500 cm c = 1655 N/cm omises = 2390 N/ecm ry =19.66 cm
o(N) =905.1 N/cm T =995.6 N/cm OGUEST= 2589 N/cm o =35.23cm
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Ju = 3436666 cm, ©(Ty) =815.8 N/cm2 ol =-324.7 N/crg y =27.95¢cm
Jv = 1586667 cm c = 1724 N/cm omIses = 2229 N/cm ry =18.99 cm
o(N) =997.7 N/cm T =815.8 N/cm OGUEST= 2374 N/cm o =33.79 cm

@ Adolfo Zavelani Rossi, Politecnico di Milano
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Jv = 1615833 cm c = 1522 N/cm omises = 2186 N/cm ry =18.16 cm
o(N) =816.3 N/cm T =906.2 N/cm OGUEST= 2367 N/cm o =32.44 cm
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Jv = 825000 cm (¢} = 1722 N/cm OMISES = 2437 N/cm ry =16.58 cm
o(N) =906.7 N/cm T =995.4 N/cm OGUEST= 2632 N/cm o =34.4cm
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